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Preface

Thanks to God who helped us to introduce one of our
famous series ‘“El Moasser” in mathematics.

We introduce this book to our colleagues.

We also introduce it to our students to help them study
mathematics.

In fact, this book is the outcome of more than thirty years
experience in the field of teaching mathematics.

This book will make students aware of all types of
questions.

We would like to know your opinions about the book
hoping that it will win your admiration.

We will be grateful if you send us your recommendations
and your comments
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CISES




&) Draw shapes according to the number :

| |
.
Q/ RN
\ 1 ‘
i

e /

L
/""/ g

4| . | 3)

@ Count and complete the two tables:

A ©

N

¢ According to the shape : e According to the shading :

ATOT N\




€) Draw 2 balls inside the tennis court and 3 balls outside it :

&) Arrange the following numbers in an ascending order :

0,1,4,Qand72

The numbers in the ascending order are :

&) Complete by using the suitable relation “ < >=or> "




@) Write the number under each set :

€ Complete : | 2 1
(1) The number 2 lies -+ the number 4 4 3
(2) The number 6 lies under the number - 6 S
(3) The number 2 is on the - of the number 1
(4) The number 3 is on the of the number 4

O Arrange the following numbers in a descending order :

24,6 ,9 and 7

The numbers in the descending order are :

............... g cereerrieees g reiseeeiiiiies g eeeeeieesiianns and
© Find the result :
(1) 6 (2) 9 (3) 4 (4) 8
+ 3 -2 -4 -5




€D Circle the set of bananas then write the number of bananas :

:

€2 Write the symbols of the following numbers :

Nine Four Three Eight Zero

€3 Complete :

~{1) Who is standing behind Tahia ?



0 Find the result :

(n 7 (2) 2 3) 9 4) 4
+ 2 i -3 + 2
(5)6+1 = (6) 5+ 0 =

@ Colour the similar shapes in the same colour, then count
according to the shape :

@) Write the letters used in the following sentence (without
repetition), then count the letters you wrote :

| love mom and dad.




mplete :

(1) (2] (3] (4] [s]

(1) The number - lies on the right of the number 3

(2) The number 2 is to the - of the number 3

(3) The number 2 is between the number - and the

& Arrange the following numbers in a descending order :

1,4 ,3 5,2 and 8
The numbers in the descending order are :

&2 Circle the figure of the same shape and shading :

N\, IAALAAS

Uy///

L

™~
AN
LV\.




@ Complete :
(1) 8

2
5
8
(2)1+4= e
(4) 7 + o= O







. N ! Ei-Nozha Directorate of Education
o calro Governpl‘at 1 §0ur Lady of Perpetual Succour School

Answer the following questions :
€ Complete :

(1m 3 (2) 5 (3) 4 4) .9
+ 6 r 2 — 4 = 2
@) [a] Arrange in a descending order :
4 .9 ,3 and 7
The order is @ - s e s ) e and e
[b] Write the number of letters :
(1) Pencil oo " {2) Copybook v
(3) Apple o, ’
[c] 7 is smaller then - and greater than -

€) [a] Write the ordinal number of the underlined picture
starting from the left : |

C YN YT YT Y

(1 @ C_j \v) C\_/) N/ \j \_/ the oo
y A N A A

(2) /\ /\ 3 /\ \\ Ll_i;_ \ _\\ Z A\_‘ ,/6\:\ , \,\ the ..............

[b] Write in letters :
(1 4 z; 8 5 T

[c] Circle the greatest number :

6 -3 -0,8




() [a] Choose the correct answer :

(1) B > e ( 8 or 9 or 5)
(2) 8 < ('2 or 9 or 4 )
(3) ............... <2 ('1 | or 2 or 3 )

[b] Complete :
(1) 8 =~ =3 (2) 4 + e =9

© [a] (1) How many balls are

inside the frame ? -
(2) How many balls are @ | @ @ |

outside the frame ? - = J

[b] Put“>s=o0r<”:

()5+2( ]5-2 (2)3+6( J4+5

1 El-Qalam Educational Zone WA
9 CaIrO GOVCI’I‘IOI'ate El Magcria Integrated School 1y U
- Bz

Answer the following questions :

&) [a] Choose the correct answer :

(1) 1+ e =8 ( 6 or 7 OF 9)
{2} The number nine in digit - (4 o 6 or 9}
{3)6_62 ............... (1 O~ O Gr 2)

i1 Arrange in an ascending order :
6 -4 ,8and0
The Order |S TTTTPRe g reereeeeenees g reernieeeeea and ...............

The first number is: -




@) Form sets then write the number :

(1) 3+ 1 |3 - 1 / (2) Eight( 8
@1 J2-1

(5 XE) ébmplete in the same pattern :

(1) 1,3 5 e
(2) 9 ’8 ,7, ...............
/ N
B’A (s /N O LAN o
(4) 051525 e

i1 Circle the smallest number :

5‘5‘91959039 §2}2’8’597




H Rod - EIF: Educational Zi
9 Cairo Governorate "Gt Marg's Gohoo! i !

Answer the following questions :
€D Form sets and write the number under each set :

NN
o e

€) Complete :
(1) The number - is smaller than 9 and greater than 7
(2) Four > Five 5 e » Seven > Eight.
(3) The number of fingers in one hand is -~
(4) The number of letters in the word “PENCIL” is -
(5) 958 s s »6 55

€) Choose the correct answer : .
(1) 2 is greater than - (2 or 1 or 5)

(2) Five = e (1 or 8 or 5)
YA JLZ

(3) The order of the coloured picture ). ) ¢ 7 ig

(Fifth or First or Eighth)



(4) The smallest number is -+ (1 or 4 or 7)

(5) | put the books - the desk. (on or under or between )

@Put“>9=0r<”:
M7+1( J2-1 @8( )3+1
(3)Two[j2+1 (4)3+2[:]5
(5)3[  )5-2 (6) Nine[ ] Three

© [a] Arrange in an ascendingofderm: e

4 ,8 5,3 and 9

The Order |S R TTTPPRR g e J g e and ...............

[b] Marina has 5 pounds and Jana has 3 pound:s.
Find the sum of the money they have.

They have = e Fo = Pounds

* El-Haram Directorate P
0 Glza Governorate Al-Mogtakbal Modern Lang. Qchool )4

Answer the following questions :
¢) Complete :
(1) 9 (2)

(1)9 6 (2) zero n
(3) 7 7 (4) 3 [——_] 35 :
17 § L8

(F 1)\ o (M) /el \ / 2l ol ) olsl, ol |




€) Arrange in an ascending order :
5>8,1and 7

- Three| [seven] [ Five | | Nine |

@_[éj >Re'em has 6 balls in the box and 3 balls on the bed.
How many balls does she have ?
Reem has = -« o B e balls.

[b] Bassem has 3 balloons 1 of them flew away.
How many balloons remains ?

Bassem has = . evetes e ereemseenieene e QPN ba“oons

6 EI_Kalyoubi a GOVZmOI’ate Obour Educational Zone

Regala language School - Math Department )

Answer the following questions :

& Complete : |
(1) 98,7 26 5 e R S D
(2) 6 in letters = (3) 7 + - -8

(2) Seven C]B
@1+2[ o9




€) Arrange in an ascending order :

4 ,9,1,0,6and 3

The Order iS RTETTISINOey Ly s g ereneeannees g seeeesnneeeens g srrrerereeeas and ..............

@) Choose the correct answer :

(1) Nine in digits - (4 or 9 or §)
(2) 5 < e (8 or 4 or 1)
(3) The shape is called - (square orcircle ortriangle )
(4)“1-4,6 5" the third number is - (6 or 6 or 4)

(5) 5 is greater than - (1 or 6 or 8)

© [a] Form sets :

(1)

+
N N
I

[c]Ahmed has 8 balls > he gave his friend 4 balls.

How many balls are left with him ?

The left balls = oo — o = balls.




@ [a] Count, then shade :

Mice

Dogs

|

Apples

Birds

[b] Where is the cat ? “on - in — under”

the box.

(1) The cat is -~

the box.

the box.

(3) The cat is -




Directorate of Education
Qupervigore of Mathematics

@ El-fayoum Governorate

Answer the following questions :
@ Count and write the number in digits and letters :

e o

€) Find the result :
(1) 5 + 2 = oo (2) 8 =4 = e (3) 0+ 1= e
(4) 7 =3 = l (5) 1+ 2= n (6) 4 —4 = e
@_[a] Arrange in an ascending order : 7
2,4,6,9 and0
The order is : o y e y e y e and -«

[b] Look and complete :
(1) The dog IS e the car.
(2) The catis s the car.

(3) The cheep is - the car.




O Put“>s=or<”:

M5  Jo @7 J6+2
(3)9-3(  J2+3 (4) Eight[  J4+4
5)5+2( ]1+6 6)7-3( ]8-3

S Omar had 6 poﬁ;ds and he took 2 pounds from his father.

How much money does he have now ?

Omar has = e o T e pounds

H ni Quef adminietrati 2 é
o Beni Suef Governorate i b Loy ohene  Pies

Answer the following questions :
€) Find the result :

(1) 3+4 = (2) 9 —5=
(3)4+4=-m | (4) 6 —6 =
(3) 4 (6) 7 (7). 8

+ 3 -2 + 0

€3 Arrange in a descending order , then complete :
5,2,7 -6 9 and 3
(1) The descending order is :
............... SO USRS UPSRTORURRUISRSRRRPPRSRIY - | [0 SRVUPRDIROIS

(2) The first nUMbEr i 1 -+

(3) The fifth numberis :




€) Count then join :

5 - Two 1
O Join :
(1) One 5
(2) Six 2
(3) Five 6
(4) Two 1

Q Assiut Governorate c.maa

Dirout adminictration
bdul Nagser Exper. Lang. Cchool

Answer the following questions :

€@ Find the result :
(1)1 +5= e (27 4= (3) 240 =
4 6 5) 9

+ 3 — 2

@) Choose the correct answer :
(1) 9 — =6 (3 or or
(2)7 3 (< or or
(3)3+3=5+ (2 or
4)6+1=1+ (7 or




€) Complete in the same pattern :
(1) 153,55 e g e (2) 8 56 5 e , 2

@ [a] Arrange in an asce;dlng order :
3>1,9,0and®6
The orderis = e e ) e AN e
[b] Ahmed has 3 balloons and Samy has 4 balloons.
How many balloons are with them ?

Number of ba”oons — e Fos T e, balloons.

© Write the number under each set :

) — (2) o (<) J—

Qena Directorate of Education
9 Qena Governorate Dechna Lan. Cchool e

Answer the following questions :

€ Find the result :




@ Choose the correct answer :

(1) Four = - S (8 or 4 or 2)
(2) Nin.e — e, (4 or 5§ or 9 )
(3) Flrst i, ( 1St or 2nd or 3rd )

(4)3+ ............... =5 (2 or 3 .Of 4)

@Put“>a=or<”:

1,2 5 g e g e » 0 (|n the same pattern)
[b] Arrange in an ascending order :
3,6 >0 and 4

The order S 7 e g reeeeeeeeenan g reeeeneneens and e

© Khaled had 9 balloons » 4 balloons of them flew awayV:
How many balloon does he have now ?

The remainder = - m s = balloons.

uxor Educational Directorate
@ Luxor Governorate Bt Tvaetion "

Answer the following questions :
@ Find the result :
(1) 4 (2)




"
3

@) Complete :

(1) There arg -~ O Q Q

balls inside the rectangle.

(2) There are e O O

balls outside the rectangle.

€) Basma has L.E. 5 she bought some goods for L.E. 3
Find the rest of money.
The rest of MONEY = woreveees e =LE. e

(3 Choose the correct answer :

(1) Three -eeeee Four. (< or = or >)
(2) 4 — 1 oo 4 + 1 | (< or = or >)
(3)7 5655 5 | (3 or 4 or 6)
(4)4 =5 — e (1 or 2 or 3)

© Answer each of the following :
[a] Arrange in an ascending order :
4 ,1,9and 3
The Order iS RTTIITITIeTe g ereeeeeeeeon g rereeeeeeeees and -
[b] Arrange in a descending order :
6 8 ,0and 5
The order iS TP g e g e
[c] Complete :
(1) The heart is -omees the table.
(2) The ball is e the table.







€©) Find the result :
(1)5 + 3 = e 1 (2)9 — 4 = e (3)2 + 0 = e
(4) 7 () 5 (6) 6
-1 — 4 + 1

(2) The lion is behind the s
(3) The second animal is the -

(4) The Sheep is in front of the i




€) Join the sets which have the same number of elements :

IR

; i | o _ ;

§ . g Lo i g f51 TP g [ BY ] i A" |
DR 3 8 /5 o

)
1

&
) ik !
) - I
ny %

N -

/) 0] .

e

(1) How many birds are there inside the cage ? -~ birds.
(2) How many birds are there outside the cage ? -~ birds.
(3) Their sum = oo do D e birds.

[b] Arrange the following numbers in an ascending order :

1,7 5055 and 4

The Order IS ST TPTOP g rereeeaeeen g e g rreeeeraeenns and ...............

€© There were 5 balls in a box. Hossam took 2 balls from them.
How many balls are left now ?

The leftballs = ......c.......... e = balls.




&) Find the result :
(1)3 + 2 =

(4)5 — 0 = -

@ [a] Circle :

(1) The smallest number from:2,8 0,6 and 9

(2) The greatest number from: 3,7 -4 » 9 and 0

[b] Count and complete the table :

® /.

e According to the shape : e According to the shading :

ATO T N\




AT,

€) Look and complete :
(1) There ArQ e apples

(2) The .............................. |S beh|nd the tree.
(3) The .............................. iS in front of the tree.

(4) The tree iS .............................. the cat and the dog

OPut“>,=or<”:
Ms(__Jo @7( )6 +2
3)9 -3 J2+3 (4)Eight[ )4 + 4
5)5 +2( J1+6 67-3 ]8-3

© Omar had 6 pounds and he took 2 pounds from his father.
How much money does he have now ?

Omarhas = ... =S pounds.
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€) Notice the numbers and complete : @

(1) The greatest number is @ @

(2) The smallest number is - @ @
(3) Their sum = - F o D e

(4) The difference between them = s — oo = e

@ Look and complete

() oo stands behind Farah.

(5) There are o girls standing behind Farida. “write a number”

O [a] Arrcinge the following numbers in aﬂdes;ending o;der :

2,7.6,0and 5
The Order |S LTIy g erreeeeeinne g ceereneniaeens g rernreeanns . and ..............

[b] Saleh has 7 pounds and his sister Shrouk has 3 pounds
less than him. -

How many pounds does Shrouk have ?

Shrouk has = s — e = pOUﬂdS.

(0:0) o (0l / Shinl\ / islg Sl obsl, ol 33



& [a] Form sets :

in] Circle the smallest number and underline the greatest
number :

2,87 51 and 6

1B = 2 = (2)7 > o > 5
1333 + 1 = ) — 3 = Five

53 The number of eyes in your face is -

%% 12 Look and complete :
i The lion is s the tree.
, There are 3 apples ................................ the tree

The elephant is e the tree.

Put in a descending order :
3,2 5,6 and 9

The orderis : s y e, g e, g e and e
The third number is -

- The order of the number 9 is -




@ Complete :
(1) The number of letters of the word “Tarek™ is -
(2)4 + 4 =7 +
(3) The number of w\'i'ngs of abird = e
(4)6 —4 = 4 —

(5) Two consecutive numbers > their sumis 9 are - .
and e

© Heba has 5 apples and Hend has 3 apples more than Heba.
How many apples does Hend have ?

Hend has = ..., F s = e apples.

//'/
/

{1} Salma is on the right of -

(Z) s is on the left of Rasha.




@) Find the results , then join them in an ascending order :

2-0 5+ 2 9 -1

(14 +3 [ 8 (2)5 - 1 Six
(3)2 + 1 7-5 4)4 + 5 8 — 2
(5)5 — 3 5+ 3 (6) Eight 9 — 1

[b] Dalia had 8 pounds. She bought a doll for 3 pounds.
What is the remained with her ?

The remaining pounds T e e R pOUﬂdS.

&) Look and complete :

{; } There are .................
outside the barn.

{2} There are .................
the barn.

{3} Their sum = - +




0 [a] Arrange in an ascending order :
:?) » 5 6 5 8 and 2

@) Find the results and join the e;;ual :

(Four) (Two) even) (Five) (six) (Three) (One) (Nine)
/ 5

37

i
X,



(4 or 5 or 2)
(0 or 4 or 6)
(+ or = or -)
(> or = or <)

{1} ............................. Stands on
the right of Rania.

{2} ............................. Stands on
the left of Sara.

{3} .......................... ang e stand between Heba and Rania.
&3 Norhan had 8 toys and she lost 2 toys of them.

How many toys does Norhan have now ?

Norhan has NOW = s i I v tOyS.
%% Complete:

4+ 1+ 3 = (218 — o -3

VT O+ 2 = e M ........... — 5 =4

41 =7 (6)2 + 2 <




€) Arrange the following numbers in an ascending order and in
a descending order :

5 s 7 > 3 » 2 and 4
(1) The aSCending Order IS ¢ oo g ceneeenens g eeeenneens g sereeeies and ...........

(2) The descending Order |S RIS TT g cerneeeeees g srereeeen g reereennnn and .......

©a

$p 42 82 &

(1) Underline the first hen. [ (2) Circle the ninth hen.
(3) Put (¢/) on the fourth hen.

(4) Put (X) on the seventh hen.

[b] Count , then complete the table :

@ Put“>>=or<?”:

M3+4 [ J9-2
(3)Seven [ ] 4+ 4 (

& [a] Write :

(1) Two numbers less than 5
(2) Two numbers greater than 6

(3) Three numbers between 2 and 7




[b] Fatema had 6 pounds , she spent 2 pounds and saved the rest.
How much money were saved by Fatema ?

Fatema Saved e e e — e pounds_

(1) The smallest number from:7 > 8 > 1 » 3 and 6

(2) The greatest numberfrom:5 > 9 > 6 » 4and 2

€) Look , count and complete :

I | i |
{1} The number of footballs and basketballs = -
{2} The number of tennis balls and footballs = oo
{3} The number of basketballs and tennis balls = oo

0.



O Complete :
(1) 54+4=-.
(2) 6 -2 =

(1) The doll is - the box.
(2) The football i - vevvverrrrvcvrri the box.

(3) The Caris - the box.

(4) There are - objects inside the box.

“write a number”

[b] Mona has 5 red flowers and 3 yellow flowers.
How many flowers does Mona have ?

Monahas = ... o, — flowers.




B Choose the correct answer :

()5 + 4 = e | (1 or 8 or 9)
(27 = 3 < e (4 or 5 or 3)
(3) The sum of 2 and 6 is - (8 or 4 or 5)
{4}6 .......... 3 =3 (+ or — or =)
(5)2:4,6 5 (inthe same pattern) (7 or 1 or 8)

#% Complete by drawing to make the two sets equal in number
of elements :

1 Arrange the following numbers in a descending order :
Six > Two > Seven > One and Four

The order is :




@ Look and complete :

(1) There are - apples
inside the box.

(2) There are - apples
outside the box.

(3) There are - oranges
outside the box and -

bananas inside the box.

& [a] Complete in the same order :

[b] Ahmed had 9 pounds. He bought a book for 3 pounds.
How much money are left with him ?

The |eft money e s e — e pounds_

§p Complete
(1)6 + 2 = (27 + e -8 (3V7 — 4 =
(4) oo - 5=3|(51+6 + 2= (618 — 6 >

@ [a] Form sets:

A

-
2y

“N,%}.,‘
N S
i Y og
S ke if
"l\.)".,p A2, . «  ’~




[b] Complete :
(1) Mona is between -

and ..................................

© Cbmplete by using “ > 5= or<”:

@Arrdﬁge '"tﬁé'fdwl__loévinég_numbers ina descending order :

5,4 ,8 3 and 7
The order IS @ e g eeeeeiens g cereeeneen g eeeneenns and

s then complete :

(1) The greatest number is -
(2) The smallest numberr [§ woveeerrennenns
(3) The second number is -
(4) The fourth number is -

Sumcomete:

{1} The number of Giza Pyramids is -

and e
{4} The number of fingers in one hand is -~

{5} The teacher stands - the board. “in front of or behind”




[b] Amir had 7 stamps , he used 5 stamps.
How many stamps are left ?

The left stamps = e — R Stamps.

(1)8 — D = (2) 5+ 4 = (3) 2 — 1 =

RN
\’//
TN
N

\\Nw#/j - S {, T
_Three | 9
[b] Circle :
(1) The greatest number: 5 > 7 » 2 > 4 and 6

(2) The smallest number: 3 > 8 - 5 > 1 and 9

© Join :
’ Eight) ’ Zero

5 2] [2+2]) (-9 [6-3) [1+1]

(;45 .';; e




() [a] Look and complete :

;’g} The giraffe iS ..................................
the tree.

{2) The bird is e
the tree.

{3} The tlger |S ..................................
the tree.

iz} Write the order :

............. SEeCONA o e e e

&3 Mona is 9 years old and her sister Fatema is 4 years old.
Find the difference between their ages.

The d|fference o e e s TR e years

46



€) Find the result :

(1)5 + 3 = e (2)4 + 0 = (3)7 =2 =
4 9 (5 8 (6) 6
-8 -5 + 2

€) [a] Arrange ascendingly :
3 -7 > 5, 2 and 6

The Order is RTITTTo g e O g cerereeeens and ............

[b] Draw 5 dots inside the
circle and 4 dots outside
the circle.

O Complete by using “ + or-":

(1) 4 1 3=7
(3) 9 | 8 =1
(5) 2 | 1=3

............................ Third e e

(b} Mohamed had L.E. 7 and he bought a toy for L.E. 4
How much money was left with him ?

The leftmoney = ... — . =LE. ..




€) Form sets and join the sets which have the same number of
elements :

()5 + 3 = (2)4 — 4 =
{39 — 8 = (4)7_1:.. .........
(5)6 + 2 = (6)5 + 4 = ..

@Put “> 9=Orr <7”
(W Eight( _ ]7 @21 +3( ]9
(3)6 — 4 ]1 + 1 48-2( ]5+2

-y



TER
PR Y]
TR

{3 [a] Look and complete :

| R
e L BEHA §%§

Sheep Rabbit Elephant  Hen

(1) The fourth animal is the -

(2) The rabbit is behind the -

(3) The order of the giraffe is -~

(4} The s is between the dog and the giraffe.
(5) The elephant is in front of the -~

[b] Arrange the following numbers in a descending order :
5.4 , 7 > 1 and 6

The orderis : - y e y e e and -
@ [a] Choose the correct answer :

(1) 3= e (7-3 or 4+1 or 5-2)
(2) | put the books - the desk.

(between or on or under
{313+ 4 =4 + (3 or 7 or 1
(4)3 <4 <5 < s (2 or 1 or 6
(5) The number of traffic colours is -+

{1 or 4 o 3
(bl Maha had 8 eggs and she gave Samia 2 eggs.
How many eggs were left with Maha ?

The number of left eggs = ..o — v = e eggs.

(V)N o (W / Glazd \ /sl oluw) olol, ol ; 49



£€) [a] Arrange descendingly :
5,4 ,8,2and6

The Order is RTTISO g senereeeens g serereeeees g reeseneeees and ...........

ib] Complete :

{v‘g} Mazen IS ON v ORI of Omar'
(2} Hassan is OF) oovereerermeemmmenreee e Of Omar_

(3} Tarek is - Khaled and Hassan.




{D Complete by using the same rule :
(1) 15355 5

(4) 254 56 5

© [a] Arrange descendingly :
6 -3 > 8 > 0 and 5
The order is : y e y e y e and -
[b] Marwan has 2 younger brothers and 1 elder brother.
How many brothers does Marwan have in all ?

The number of brothers = F o = e brothers.

&) [a] Cancel the elements to make the two sets equal in number

of elements :

[b] Look and complete :

{g‘; The dog is ................. the car.
{2} The cat IS oo the car.
{3) The sheep is -+ the car.

{4} The manis - the car.



€3 Join the results in an ascending order :

(5-4] [1+3] [o-4) [e-2)

it -t s LT

€) Complete with suitable numbers :

M7+ J=09 @2+2>5- |
335+ ] <9-2 ‘ @ J+4a<6

{3 Circle :

(1) The numbers which are greater than 5 :
4 ,7 5,8 5,2 and 6

{2} The numbers which are smaller than 4 :
3’8’0,9,28nd7

&3 [a! Circle the second animal and underline the fifth animal
from the left :

;. Ahmed has L.E. 4 and Youssef has L.E. 3
Find the sum of the money they have.

They have = e Fo = LE. e




€ Write the number of objects in each set :

—

~. VL . ~
. L ~
~ .
- e | N
2 \ , N e 4 \
. y / K 5= - £
; @ / - : & BN
] | @ ST
i N i - R
» { \ o = a -

@) Find the result :
(1)5 + 4 = e (2)3 + 2 = e (3)7 - 1

4 , 8 > 3 , 5 and 9
The orderis : y e y e R and -
s then complete :
(1) The greatest number is -
(2) The smallest number-is -
(3) The difference between them is -

¢} Complete by using “>s=o0or<”:




© [a] Look and complete :

(1) The bird is --eees the house.
(2} The dog is e the house.
{3} The horse is e the house.

i} Omar has 7 books and Hani has 2 books less than Omar.

How many books does Hani have ?

Han| haS e e = e bOOkS




[b] Put in a descending order , then complete :
1,2 ,9,3and 5

{1) The orderis : -

(2) The third number is

(3) 2 iS the ..................... number_

@ Complete :
(1) 4 + ... =4

(3) The sum of five and one is
{(4) The difference between 9 and 4 is
{5) The number of shaded parts in the figure

(1)5 + 4 = {{3 + 2 = ;.{*’;8 - 5
(d) 9 T ey 4
-6 ~ 3 + 1
£} Choose the correct answer :
gg} 9 — =6 4 3
‘2§ 5 .......... 2 = 7 — —
6= {6 +1 8 -2
i The number of letters of the word “Zero™is -
0

(513 54 5 » 6 (in the same order)

‘(5 o 2




O [a]Put“>s>=0r<”:

M5-4(  )5+4 (2)Nine () 6 + 3
(3)1+85+3 @9-6( |7-4

[b] Waleed has 3 green balls , 5 blue balls and 4 red balloor}s.v
How many balls does Waleed have ?

Waleed has = et F o D e balls.

#3% Find the result :
{‘5}2 +1+4 = (2)9 — 2 = N
56 67 (5 8 6 4
+ 2 + 1 -4 + 3




€) [a] Match :

A B B ]
5 + 3 = 3
2 b PP E|ght
7 — 4 = e Seven
The number of colours 0
of the rainbow is - |
{b] Write :
(1) Two numbers less than 4 | [3 and
(2) Two numbers greater than 5 D and ’
(3) Two numbers between 3 and 8 D and ]

OPut“>s=o0r<”: -
(1 Four [ ] 4 @6+0 [ Jo-1
3)3+5( ] 5-3 (4 Zero [ ] 1

&3 [a] Arrange the following numbers in a descending order :
5 s B 5 2 » 7 and 8
The Order iS NIRSERIETTIoy g sereeneenns g wrreenae g reeereeens and ........... ,‘~

'} Sherif has 5 oranges and Khaled has 3 oranges more than
Sherif.

How many oranges does Khaled have ?

Khaled haS e + ................. [N Oranges

(Ap) s (oW /gl /g ol bl olbol, ol




&P Find the result :

(1)34.2: ........... (2)5_1
(-‘i>4+5: ---------- (5)6+2= ...........

#2121 Draw & according to the number :

7

%! Circle :

1} The greatest number :

{2 The smallest number :

LT gal cOmplete by using “>s=o0r<”:

i Five E:] Nine

58




O Arrange ascendingly :

The Order |S EETERPPPPRIO \ g e g creeeeeseenaneans g eeeeeeeereenn and ..................

© Sally had 8 apples in a bag and 2 apples fell down.
How many apples are still in Sally’s bag ?

The number of apples in Sally’s bag now = - —

N B apples.

& [a] Form sets of 6 cats each :
A

How many sets did you form ?

The number of setsis -+




[b] Look and complete where Yassin is the first :

=y

Yassin Abmed Kamal Nour Hassan Shady
(1) The order of Ahmed is -

{2} The fifth child is -

{3} stands between Kamal and Hassan.

{4} The order of Nour is -

(5] s stands on the left of Hassan.

@Put“>a=or<”:

&) [al Arrange the following numbers in an ascending order :

4 s s 3 s, 9 and 5

The Order iS SIS TPPR g e g seerereeenne g reneneenens and .............

' Complete in the same pattern :




OFill[ ] with suitable numbers :

ML) +4=09 @3+ () >8-4
3 J]+8=9 @we - ] =4
G J-3=3 L J+7=7

© Ali caught 7 fish and Rami caught 2 fish.
Find the number of fish with both.

The number of fish = et o I e - fish.







Key Answers

Page ((7)

€) Write the number under each set :
¥ ) Oraw shapes according to the number : Ferd 3 &
.- LT ot -
- V@
[ 4 P :
. ;
» . () Arrange the following mumbers (n an ascending order : w3
e o | 0.1.4.9and2 € Completr :
. . . * . L. N The numbors in the escending order are * 11)The number 2 lies - Ofi-- the number 4
'Y ; ° ® . O« -1 -2+ . 4. -8nd- - Q- {2) The number € ties under the number --4
S - . . +3)The number 2 is on the -left - of the number 1
W s © Complate by using the sultable relation ° < +=or > = : 14)The number 3ia on the r(ght of the number 4
s z m3+4 =7 219-0:_> 4
@3+5( <39 s-3[ = )2 ommfwm\gmmmwmmn
2.4.6.9am7
Exerdse 2 The numbers in the descending order arne : ;
@ Circle the objects of the same kind : Qv -7 vy e frand D
© Find the result :
(RIS ] |
+3 -2 N
o 7
(5)3=1= -2 !

O Find the resutt: © Complate :

in 7 i 2) 2 ' 9 4) 4 ¢ : 2 ==
© Circle the set of bananas , then write the number of bananas : " | @ 2 C s ®.3 OO 32
9 ‘ 2 . é -6 +1) The number -4 - lies on the right of the number 3
518412 7 : ©5+0= 5 {2} The number 2 is to the --L2fT . of the number 3
) ' 13) The number 2 is batween the number - 1 .- and
© Complete acconding to the pattern : the numbar -3 -
11-3.5. 7 6.6, 4 -2
. ) Arrange the following numbers in a descending onder :

9. 8.7 .6.5. .4

1.4.3.2and B
€) Write the symbols of the following numbers : The numbers in the descanding order are :
Nne  Fow  Twoe  Eign  Zew © Colour the similer shapes in the same colour, then count 8 . 4.3 .2 s 1
r accord the :
L9l 4303 g o theshepe ‘ © Complete by using *> mor <*:

me-3 < e @32 T4
© Complete : (31642 8 91 le
<.
(1) Who is standing behind Tahia ? A 53+3 . 6-0
Sabah Lo o 3] A
S AExerds,e 5

2) Who is standing in front of Eman ?
{21Who ia sunding © Curele the figure of the same shape and shading :

. .Fayza P
SRS 1 ) Write the letters used in the following sentence (without
{3)Who is standing in front of Fayza ? repetition), then count the letters you wrote :
{4)Who is standing between Fayza and Tahia?  Eman 1 iove mom and dad
} Love m and
The number of leflers 1s 9
8 e e et e e
Page g
€ Complate : . © [a] Choose the cornect answer :
: . o Cairo Governorate et & RIE : 8 o 9 o5
Answer the following questions : < 22 or(8 or 4.
5 3 © Complete: &1 <2 11 or 2 or 3
5. 3 « 8 m 3 2 s @3 4 w9 in} Complete :
+ 6 . 2 _ a4 -2 (18- § =3 204+ £ =9
€ Complete in order : - 9 7 4] 7 € 1a) (1) How many'balts are
2 31 458 ) |4} Arrange in o descending order : nside e frame ? 5
_—'—.-—: 4.9.3and 7 :2; How many balls are
3 4.8 6 : Theorders: @ . 7 . 4 and 3 outside tne frame ? 7
4 | 5 6 7, ib] Write the mugber of letters : 8 WPUL>=0re”:
—_—— A 1) Penci - . 21 Copypook ~ B "
; T S 542 5-2
15006 4 8 . 31Apple” § -
° . iciTissmalerther 8 and greater than & €) Cairo Governorate Subva e i i !
_— . 21442 5 €) ;+; Write the ordina: aumber of the underlined picture T o B
- ; i storting from the left : Answer the following questions :
7 " " the A0 &) :. Choose the correct answer :
5. 2 =3 L 47e 2 =9 . ) e siomeh [ =8 € .7 9
—_ 21 The numper mine n digit 4 5 9
©) Complate with sultable numbers : n, Write in letters 16-B= 1 ‘0 2
diTe . . 9> O o4 . 7
’ . o 8 4 + Arrange in an ascencing order :
5 4oce - i3< B four eight A 6.4.8ac0
50< 3 . - Cucle the greotest numper . Tre order s 4 . h xa &
) o~
) Tre first rumper os
n




A
©) Find the resuit :
ms+1= § | 2)8-3=-5§
(314+3= 7 | e-s5=-1

OPut >imore”:
Mm3+1{>3-1 (2) Eight (= )8
®7(< )9 1= J)2-1

© [2] Complete in the same pattern :

m1.3. 5

219.6.7. 6 3
] R T

“o.1.2. 3

{b] Circle the smallest number :

(1.5 (2K2).- 857

Answer the following questions :
@ Form sets and write the b

€) Comgplete :
(1) Thenumber 8 is smalier than 9 and greater than 7
{2) Four -+ Five - S{X - Seven . Eight.
(3) The number of fingers in one handis 5
(4] The number of fetters i the word "PENCIL* s ©
(5)9.8. 7 -6-5

€) Choose the correct answer :
(1) 2is greater than (2 orG/or 5)

(2) Five = (1 or 8 or@)
(3) The order of the coloured picture . * )
{Fifth or G; or Eighth)

(4) The smallest pumber is - - @, or 4 or 7)
{5) 1 put the books - - lhedesk@or under or between)

O Pt >smorc®:

m7+1(>J2-1 |

wav2(Z)s
(6) Ning (> J Three

93(=]s-2

© (a] Amange In an ascending order :
4,.8.5.3and9
Theoderis: -3 . 4. .-5. .. 8 .and -9
[6] Maring has 5 pounds and Jana has 3 pounds.
Find the sum of the money they have.
Theyhava= -5 +.-3... = -8 Pounds.

Giza Governorate

Answer the following questions :
€@ Complete :
m s @ 3 3 6 w £
* 4 + 2 =2 =1
-9 -5 3 1

O Put*>rmor<”™:
me{>Je
w1(=]7

@) zero( < J et
w3{< s

s A s 1 it sttt ittt AT,

© Arrange In an ascending order :
5.8-.1amd7
The orderis: 1 .5 .7 aa 8

O Match: 5 9 7

T
(Trso) [Sovon] [Fiva] [ine)

© [a} Reem has 6 balls in the box and 3 balls on the bed.
How many balls does she have ?
Reemhag= 6 -+ -3 = .Q bels.

{b] Bassem has 3 balloans 1 of them flew away.
How many balloons rematns 7
Bessemhas= 3 - 1 = 2 balloons.

Answer the following questions :

© Complete :
me.s.76. 5 . 4 ..3 .2.1
{2) Gintetters SLX | @7 1 =s
o> § I 95-3= 2

B Put > more”:
18 >3

313+2{ > 6-3

151 Eight[=_da+4

12) seven(<_j8
@ 1+2(< )9

© Arrange In an atcending order :
4.9.1.0.6and3

Theorgeris: O -1 +.3 +-4 . 6 am Q
@ Choose the correct answer :

(1) Nine in digits (4 or(3 or &

2)5< . @@ or 4o 1)

), ;The shapo is called (@auargyor circke or wiangle)

{41144 +6 .5 the third number is s or(g/or a)
({1 or 6 or 8)

{5) Sis greater then

© 12] Form sets :

2O

(6] Find the result ;

m 7 @ 8
+ -3
9 5
pra+o= 9 @6-3= 3
c] Ahmed has 8 balls + he gave his friend 4 balls.
How many bails are {eft with him ?
Thetenbets= -8 - 4 = .4 bals

youm Governorate

Answer the following questions :
€ Count and write the number in digits and letters :

s
e
Y sue

two one Jour nine

€ Find the result :
h5e2= 7 78-4= 4 3jo+t= 1
w7-3= 4 (s)1+42= 3 wa-a= 0
€) {2, Arronge in an ascending order

2-4.6-9and0

Theorderss O . 2 . 4 . 6 ena 9

{t! Look ond complete :

1 The dogrs 2" 4 the car
‘2 Thecatis  °7 thecar g
¥

+3; The cheepis™™* ¥ % the car

[

(64}

i
0.‘0.‘&
(Y
A

R

Nje[a]n]o|~

'y
i
7
TTTT 1T | e
: LAy

B Apoer E

[b) Whare is the cat ? "on — in — under”

(1) The cat sYO98T the box.

.5

(2) Thecatis 9N . the box.

(3) Thecatis N the box.

@OPut=>smorc”:

s> 0 l (z)7§s+z
M9-37> 2+3 | Egh = d+s
(51542 = 1+6 6)7-37< 8~3

© Omar had 6 pounds and he took 2 pounds from his father.
How much money does he have now ?
Omarhas= 6 + 2 = 8 pounds.

0 Beni Suef Governorate

Answer the following questions :

€ Find the result :
maa= 7 2y9-5= 4
Gra+a= 8 y6-6= 0
51 4 16) 7 {7 8
*3 -2 ! hal
7 5 ) 8

) Arrange in o descending order . then complete :
5.2.7.6-9and3

(1) The descending order is

9 .7 .6 .5 .3 ad2

12) The first number 1s © 9
.3 The fifth number 15 3

{22,

Governorate
Answer the foliowing questions :
© Find the result :
M1+5= 6 @7-4= 3 | mz2e0= 2
@ 6 sy 8
-3 -2
9 7
€) Choose the correct answer :
19— =6 ([3 o 4 w1,
37 3 i<
(3;3+3=5+ ]
) 6+1=14 17




© Complete In the same pattern :
1 1.3.5,~7 -9 (28.6+ -4 -2
@ [a) Armange in an ascending order :
3.1.9.0and6
Theorderts: 0 v - Toy .3, Buana -9
{b] Ahmed has 3 balloons and Samy has 4 balloans.
How many balloons are with them ?
Number of bafioons = - 3 - + - §- - = 7 balloons,

© Write the number under cach set :

0 Qena Governorate

Answer the following questions :

© Rnd the result

€ Choose the comect answer :

(1) Four=-...-. 8 orG/,or 2)
(2} Mo = - - (4 or 5 ar@
(3) First= @ or 2 or 39)
4)3+— =5 @w 3 or 4)

© Pt >rmor<®:

13> Jone | 29 3
®2(=)2 () tour (37
© fa} Complete :
1.2.-3 .4 . --5 . .6 (inthe same pattem)
ib) Arrange in an ascending order :

3.6.08and 4
Theoderis:--0-- . -3 -4 and 6- .
© Khaled had § balloons + 4 balloons of them flew away.
How many belloon does he have now ?

4. 2.5 balioons.

_page (29)

© Find the result :
(15+3=-8 |@9-4=5 | m2+0-2

W 7 5 5 ® 8
-1 -4 +1
6 1 7
@ (a) Put*>,mor<”;:
m7(>]s @ 3(Z JFour
@M6-4[=])1+1 ‘ ws-3[<)s5+3
[b] Complete :

-5 ‘L%% > i’

(1) The order of e mouse i JJth
(2) The fon lsbehind the  -dog
(3) The second animal ks the - At

{4) The sheep Is in front of the --giraffe

© Join the sets which have the same number of elements :

wiy SRR 9O
T

DR RV

QWM& e e Bl
u;az;@ W <98 L

O [2) Look and answer :

ﬁfi@g@gﬁ;

(1} How many birds are there inside the cage ? 3 birds.
{2) How many birds are there outside the cage ? D birds.
Gimeesms 3 + 5 = 8 bins.
[b) Arrange the following numbers in an ascending order :
1.7.0-.5and4

Theodors: O + 1 -4 . 85 ad 7

© There were 5 balls in a box. Hossam took 2 balls from them.
How many balls are left now ?
Thewhbals= 5 - 2 = 3 bals.

© Look and complete :

(1) There are 4 apples
onthoteaand- - -2 - apples
under the trea. “writa numbers”™

22The dag s behind the tee.

(3 The cat is in front of the tree.

4) Thetrea is between the cat and the dog.

GQrPut>smor<”:
ns 0 i 277 62
ms > ; ar<_
me-3(>J2+3 ; tEigt|="
ms+2(=J1+6 I @r-a<Te-3

€ Omar had 6 pounds and he took 2 pounds from his father.
How much money does he have now 7

Omarhas= & + 2 = 8 pounds.

page (32)

€ Complate :
(1)Mm-—2-—
bafts inside the rectangle.
(2) Therears  3- =
balts cutside the rectangle. -~

€ Basma has LE. 5 she bought some goods for L.E. 3
Find the rest of moaey.
Therestofmoney= -5.- 3. =1LE 2 -
@ Choose the comect answer :
(1) Theee - - Four. < or =
24-1 ---4+1 (< or = or >}
(317.6:5. - - (3 or(4 or &)
Wa=s- - @ or 2 or 3)
© Answer each of the following : '
[a] Arrange in an asomaling order :
4.1.9and 3 ,
Theoderis: -1 . 3- . 4 aa 9
[b] Arrange in @ descending order :
6.8.0and 5
Theodetis: 8 - 6 - 5 and Q
fc] Complete :
(1) Theheartis -0t e table.
(2) The ballis Under e table. £

or >)

o 1 2

© Find the result :
Mm3I+2=5 |@8-2=6-|37+1=-8
“45-0=5 H6+3=9Q 69 —-5=-4
O (2] Curcle:

(1) The smallest numberfrom = 2 . 8 -(©). 6 and 9
{2) The groatest numberfrom: 3 . 7 . 4 (Dand 0

[b] Count and complete she table :

e N\ e & p
E e [ o ¢
& » O €@ «

® According to the shape :  According to the shading :
OJATO
4 15 [ 6

5”1

_page ()

Model I EP

© Join each number to the sultable set :

€) Choose the correct answer :

A5+4= (3 or 1 (9
12) Seven < (8 or 7 o 6
3)8-2 5 (< or =cr(>)
Wi =8 13 o5 o 6

35 or 4+2 u,C.e)

S 7=

© Notice the numbers ond complete :

(3) The greatest numberis 8

(2) The smafiest numberis 1

B Thersum= 8 + 1 - G

14) The difference between them = 8 -
@ Look and complete :

(1) RShA grands behind Farah.

@) SUY  stands in tront of Farida
(3} Farah stands introm of RAShG

1 ANda gyangs between Saty and Nadia

(5) Theraare 3 gits standng behund Fanda. “wite a aumber”
6 (2] Arrange the following numbers in a descending order -
2-7.6.0and 5
Theorders: 7 - 6 . 5 .2 ag O
b1 Saleh has 7 pounds and his sister Shrouk has 3 pounds
tess than him.
How many pounds does Shrouk have ?
Shiowkhas= 7 - 3 : 4 pounds




© (a)Form sats :

{bjCircle the smallest number and underiine the greatest
number :

2.8.7 ®nd 8
€3 Complets :
ms-2=-3.. @1
M+ 1= b ' .
{5) The number of eyes in your face is 2 -
€ [2] Look and complete :
(1) The lion is -—-behind . the tree.
{2)Thers are 3 apples - - - OML - - the tree.
{3)The elephant is —in-front of the tree.
[b] Put {n a descending order :
3,2.5.86 and 9
()Theorderis: -G + §+ - 5.3 -and- 2
{2)The third number is -G~
(3)The order of the number 9 is -first-

a.

© Complate :
(1) The number of letters of the word Tarek is -5
(2)4+ 42T+ Fm
{3)The number of wings of a bird = - —2-
{4)8-4=4- ,.,..2.“.
{5)Two consecutive numbers » their sum ia 0 are -- - &-
and -G

©Heba has 5 apples and Hend has 3 apples more than Heba
How many apples does Hend have ?
Hond has = G s eeFor @ e G BPDIOS.

@ (2]0raw @ according to the number :

o0 o ‘o000 o ®
o ®e00? .
‘5 9’ 3
[b] Complete :

-
(1) Sakma is on the right of - Randa
(2)-Heba is on the left of Rasha.
{3)-Rashais between Randa and Heba.

(4} Saima I3 the first + thon the order of Resha is ~third-
35

O(ajmunqcmanuandhgadtr
+5 .8 .8 8nd 2

Theoderls: 2-.-3-»- 5 « -6 am §

[b] Join the sets which have the same aumber of elements :

€) Find the results ; then Join tham in an ascending order :

9 3G

oo @D

©Put” >.-or<'<

ma+3 (e @5-1[ <] s

m2+1 (>)7-5 wa+s(>)8-2

5-3 [ <])s5+3 (et (=)o -1
© 1a] Complete in the same order :

0010eeer 3 hyeaBoam 8.0
[b) Dalia had 8 pounds. She bought a doll for 3 pounds.

What is the remalned with her ?
The remaining pounds = - - & = w3 - 2 5 pounds,
Qkau;uH;ovnphh:
(1) Thers are -3 hens
outside the bam.

{2)Thers are -4 - hens inaide
the bam.

(3) Theke sum = -3 4 ol

(4 o5 o(2)
0 or(asor €)
(+ or = urC)_
@ o = or <)

(5)Ardedd . (7 or 4 or 3
€ Look and complate :
{1y -~ Rasha... stands on @
the right of Rania.
(2)- - Rasha.. stands on o <

the left of Sara,
(3) --S050.. gng RAShA .. sand betwsen Hebe and Rania.

1509

©) Norhan had 8 toys and she lost 2 toys of them.
How many toys does Norhan have now ?
Norhanhas now s B 2o a6 s,

{ Model | 7

Q Complets:
M4+1+3=-8. @8--5 =3
@7+2=9 ‘ @ -5 =4
5 6 +1=7 I @2+2<-5-

O:nwtqoﬂufollowuq. numbers in an ascending order and in

5+7-3.2and 4

(1) The ascending order is
(2) The descending order
[330]
(1} Undarine the first hen. (z)adnn-*mm.

(31Put () onthe fourth hen. |  (4) Put () on the seventh hea.

[b] Count , ﬂ\mcmnplluﬂumbh: .
a3 @ ¥4° @3?‘}\3@
" ‘6@6@@5}\%

OPQR“>imor<™:

3 +4 "= 9-2 @7T+1 (> 8+1
(iSeven [ 4+a ! (4)8—3[_—_<:2~4
© [a) Write :
(1) Two numbers leas than § t 3and -4
(2} Two numbers greater than & « -Fed 8§ .
{3) Thwee numbers batween 2and7 . 4 . § and

{b] Fatena had 6 pounds , she spent 2 pounds and saved the rest
How much money were saved by Fatema ?

ralemasaved= 6 - 2 = 4 pounds

([ Model T8

© ‘wintheresults na dnundlnq order :

-5 393 =235

—_—
I 4
1+ 3 9-1

@ ccle:
(1) The smallest number from 7 - 8 -(1- 3and 6
12) The greatest number from : 5 -(8)- 6 - 4and 2

€) vk . count and complete :

z® e

4 3 5

1. Trie number of footbals and basketballs = &

123 *ne number ol 1enms bails and footbatis = 9

131 "te number o basketbalis and tenmis balls = 7

€ Complate :
ms+a= 9
26-2= 4
3 3 <8-3
“ 7 +1=1+7
(5) The number of legs of two slephantsia &

© (2] Complete by using * inside * o * outside * :

i) Thadoliis  Outside  the box.
12)The footbatiis  inside the box.
(3iThecaris outside.  the box.

*4) Thers are 5 objects inside the box
“write 8 number”

115} Mong has 5 red flowers and 3 yeliow flowers.
How many flowers does Mona have ?

Monahas= 5 + 3 = § flowers.

TN SR |

Q Choose the correct answer :
(15 +4= (1 or 8 or(9)
@7-13¢< 4 or(s 0or 3)
(3) The sum of 2 and 8 Is @' or 4 or 5)
46 3=3 - orG_'or =)
(5)12.4-6. (inthe same pattem) (7 or 1 or(\s:!

€) Complete by drawing ba Take the two sets equal in number
of elements :

€ (a) Complete the table :

- 6 2 1 5 0 4
-3
9 s 4 8§ 3 7 -7
101 Arrange the following numbers in a descending order :
Six « Two . Seven . One and Four

The orger 1s

Seven . S . Four ., Two ang One




© Look and complete :
(1) Thers are - 4 apples
insida the box.

{2)Thers are — 2-- appies
outside the box.

© (a] Complete In the same order :
G BT v Bk 3210 -0

[b] Ahmed had 9 pounds. He bought a book for 3 pounds.
How much money are left with him ?

Thetetmoney= ~ Q. — =3 =. § pounds.

© Complete :
Mmee2< G| @7+ -1 =8 37 -4=-3
@8 -5=3|1M1+6+2=-9 | ®@8-6>

€3 (aj Form sets :

Page ((46)

{2)Eman is in front of - ..Heba. ...
(3)—~-10NG.. i5 behind Sara.

©) Complete by using * > ymor < ™
me(>3e 2y5(Z)seven
e+ >)7-2 (@444 =]s
\
‘ 55+3(>]7-1 ©11+4+3(>) 8-1

D Amange the following numbers In a descending order :
5.4.8.38nd7

Theorderis: 8-+ 7+ 5.\ -4 and-3-

11)The greatest number Is - &-
(2)The amaBest number is - - 3
(3)The second number is - 7. -
(4) The fourth number is 4+

© ta] Complete :
11) The number of Giza Pyramids is
29-5=3+ -}
13) Two surccessive numbers - their sum is 5 are

{4)The number of fingers In one hand is 5 -
(51 The teacher stancs - - - mebo.nl.

{b]Amir had 7 stamps , he used § stamps.
How many stamps are left ?
The left stampa = -7 — .~ = 2 - stampa.
© Find the result
M8-2x2-6-| 5+4= G | @32-1-=--1
@ 1 5 9 ) €
+2 -0 +3
) (2] Draw @ according to the number :
° o o
e ® ®
. .
] o 4 @
Three 9
(o) Circle )
(1) The grestest number : S @ 2 . 4 and’ 6
(2)The smelest rumber: 3+ 8 . 5 «(1)and 9
© Joln:

O[z]l.oakundcnmplm:.
(1) The girafle s .- -behind .
the tree.
(2)The bird 48 - ---OIL .
the tree.
(3) The tiger is -infront of
the tree.
{6] Write the order :
. P g"/\ ¢
Lh W aBe D

Fust Secons Thud Faurth Fifth Sixth Seveath Eighth Ninth

© Mona Is 9 years old and her sister Fatema is 4 years old.
Find the difference between their ages.

€) Find the result ;
ms+3=-§ 24 +0=-4 | WT-2=2-5
@ 8 (51 8 © 6
il =5 2
1 -3 -8
€) (al Amange ascendingly :

3.7 .5.2ad6

Theorderis: 2o« --Be oo o webymnd 7

.
(b} Draw § dots lnside the e o *
dscie and 4 dots outside .
the circle. LI

@ Complate by using * + or - *:

ma ((£]3=7 @3 f 6=9
e = 8=1 (a8 (= 4=4
52 I 11=3 {6)}0 E 222

© [2] Wirite the order :

» Y LF a4
@ S <O Gk Lo o P
Fust Second Thrg  Fourth  Fth  Sixth Seventh

{b}Mohamed had L.E. 7 and he bought a toy for L.E. 4
How much money was left with him ?

Theletmoney= 7 - 4 =LE 3

Page { @

© (2] Look and complate :

a, @
oymowy BN R s
Dog  Gon  Guefle Sheep  Renot  Elephant
11) The fourth ammal is the sheep
{2) The rabbx 1s behind the Sheer
13) The order of the giraffe is  Lurd
(4)The 120~ is batween the dog and the girafle.
151 The elepnant is in front of the  han
{bi Arrange the following numbers in a descending order :
§.4.7.1ad6
7.6 .5 -4 and |

£ {a) Choose the correct answer :

e

The order s

3= 73 o et or(5-2,

‘4,1 put the books the desk. -
\between r {on or under -

13-+ 4 =4 3 ar T or 1.

53 <a<5<
.4+ The number of traffic Colours 1s

P ISR BTN

1.4 wrf3.
ini Maha had 8 eggs and she gove Samia 2 eggs.
How many eggs were left with Maha ?

Thenumberofiofeggs= 8 - 2 = 4 eggs.

_page ((50)

) Join the equal results :
—
53,

€) (> Amange descendingly :
5.4.8-2and 6

Theoderis- 8 + § - 5 - 4 and 2
:nj Complete :
A ———
e
PR
-~
- ye
Mesn  Ower Heseon Twek toeid
IsMazenson  che night of Omar
2) Hassan 1s on H of Omar

chiTarake  CTLeEen Khaled and Hassan

ms+3= 8 . 24 -4 =-0
}9-8= 1 : @7 -1=-6
6+2 § | @s5+4=-G
©Put®>mor<”:
g >"7 @1+3<e
pe-a[=1+1 ' ws-2({L5+2
“
© Complete by using the same rule :
m1.3.5. 7
28-7.6. §
@7. 5 3.0
(92.4.6. 8
© 1} Arrange descendingly -
6.3.8.0and5
Theoseris® 8§ : 6 - 5. 3 and O

{b] Marwan has 2 younger brothers and 1 elder brother.
How many brothers does Marwon have In all ?

Thenumberofbrothers= 2 + ] =

€ 2] Cancel the elements 1o make the two sets equal in number

of elements -
17 S T
L & «€
in! Look and complete :

*1: The dog 15 behind (ne car.
21 Thecatis " the car

131 The sheep 1s # 0L clthe car.
(4) The mans 1NS14e the car

3 veothers.




@ Join the results in an ascending order :

00 (oG

L !

Cd G0

© Complete with suitable numbers :
mr+ (3] =9 | @2+2>5- 5]
@5+ [])<9-2 w{Qg ) +4<s

© circle:

(1) Tha numbers which are greater than 5 ;
4@ 5 @2 3@
{2) The numbers which are smaller than 4 :

@ 8@ 9 @ed 7

© (2] Clrcle the second animal and underline the fifth animal
from the left :

{b} Ahmed has L.E. 4 and Youssef has L.E. 3
Find the sum of the money they have.
Theyhave=. 4..+. -3 =LE.-7-

Madel 16
© Write the number of objects In each set -
. - &
@gg TR e e
®® T T <7

rs
Othd\.nsﬁil: i
| M5+4=9 [ @3+2=5-| @7-1=-6
\ @ 8 5 4 6) 6
-0 +3 5
8 7 1
€3 Arrange in a descending order :
4.8 .3 .5ad 9
Theorderis: @ -8 ..-5. 4-and -3
+ then complete :
(1) The greatest number is - G-
(2) The smaflest numberis - 3 - -
13) The difference between themis &
© Complete by using“> rwor < ”:
ma + 3 @5 - 1(Z)s
m2e1[=])7-4 (94 + 5 >)9-1
511 + 6= ) Seven (61 Nine (= )6 + 3
53

.Page (

[b) Put in a descending order , then complete :
1.2.9.338md5
()Theodsris: @ « 5.3 + 2 and 1
12) The third numberis 3
(3)2is the fourth number.
@ Complete :
ma+ 0 -4 @b -3=3
(3) Tha sum of five and ons Is -
{4) The diffetence batwsen 8 and 4 is - 5

{5) Tho number of shaded parts in the figure
is -2

Page ( @

© (2] Look and complete
{1)The bird is 0N . the housa.
(2)The dog is ~nfuont of the house.
{3) The horse is behind the house.

{b)] Omar has 7 books and Hanl has 2 books less than Omar.
How many books does Hanl have ?

Hanihas = -7 . _..2.

© (a] Joln the sets which have the same number of elsments :

O (2] Put=> mor<c®:
m5-4 ()54
@16 >)5+3

(21Nine (=) 6 +3
we -6 (=)7-4
(b) Waleed has 3 green balls , 5 blue balls end 4 red balloons.
How many balls does Waleed have ?
Waleedhas= 3+ 5. =8 pas.

Modet J18

@ Count and write the number in diglts and in letters :

6 [a] Match :
[ A B
[ 5+3= - 3
2> - Erght
7T-4=- - Seven
The number of colours °
ofthe minbowis - |
[b] Write :

{1} Two numbers less than 4
. {2} Two numbers greater than 5

(3} Two numbers betwaen 3 and 8

g

€ Find the result : 2y OPut"> morc®:

M5+4=-9 | @3+2=5 |@m8-5=3 T e MFour (=) 4 @ev0 (< )91

(O] & 7 © 4 7 1 4 B3 +s zem (] 4

-6 -3 A m1+7{=)8-0
—3 —4 -5 seven one four
alﬂ]Amnch\ljoqungnunMﬂbludnandb\gord:r:
© Choose the correct answer : @ Find the resuit : 6 2.7
.6 .27 and 8

me- =5 14 or(30r 5) m2e1ea= 7 @s-2< 7 The order s : 8 765 a2

@25 257 (= or = or(3}

3)6= (6+1 arGZJor 4+3) @ 7 ) 8 ® 4 [bl:t:}jthomngudehahdthomng«smnﬂmn

P 1 -4 3 . 5
{4} The number af letters of the word “Zero™ :so WC/O’ a ’8 v 07 How o does have?
(5134, .6 (in the same order) @w 2 o 7) Khaled has =--5-
Y T e L £ A\ ] g Ve i {57
Page £
€ Arrange ascendlngly :
4 .9 .5 .0 end 7

© Find the result : 9

ma+2:-5 -@5-1=-4 @r-3:-4 mooers: 0 . 4 . 5 . 7 e

Wa+5:=9 (6+2-8 18-2-6

€ (2] Draw @ according ta the number :
o, . . ®
L] L]
e o L]
7 3
[b] Circle
() The graatest pumber. 8 < 1 - 6 - 2 end(D
(2) The smatlestnumber: 7 . 5 - 8 @nnd 6
© (2} Complete by using * >+ =or <" :
(1) Five < Nine 2)3 > Zero
) M9 -4 < 7-1
613 -2 = J&8-1

RIS

© sally had 8 apples in a bag and 2 apples fell down.
How many apples are still in Sally's bag ?
The number of apples in Sallysbagnow= 8 - 2

How many sets dc you form 7

The number of sats is

(1) The order of Ahmed s Second

{2} The finh child is, Hassan

3} Nour stands between Kamal and Hassan.
(4) The order of Nc;u:iu fourth

(51Shady stands on the teft of Hassan.

@ Put > mor<c”:

m3s2 (<7 (24 + 4{ > | Seven
M5 -3(=]) 2+0 @T+1( > 2+2+2
T2 >)7-2 ©@s-4(=_9-8

© [} Arrange the follawing numbers in an ascending order :
4 .7 .3 .9 ad 5
Trooderss 3 - 4 .5 . 7 ad 9
(b) Complete in the same pattern :

m2.3. 4.5 .6 .7.8 .9
7.6 5 .4 -3 .2




© FUl[___) with sultable numbers :
Mm[5_)+a=9 @3+ (4 ]>08-4
(T3 +e8=9 we- (2 ) =4
&6 ]-3=23 ©_0j+7=17
© All caught 7 fish and Raml caught 2 fish.
Flnd the number of fish with both.

o numserottsne -7+ 2. 5.9 wn







